1. (x+4)2-3(x+4) & A5EalstH?

O (x+4)(x-1) @ (x-4)(x+1) ® (x=7)(x+4)
@ x+4H)x+1) @ (x=-7)(x+1)



2. (x+2)2-(x-1)(x+2) & A7ste] Thhs] eRHH?

@ 2x24+4x+6 @ 2x% —4x @ x2-7Tx+2

@ 3x+6 ® 3x-6



3. (x+y)(x+y+2) -3 AR oFH?

O (x+y+1)(x+y-3) @ (x+y-1(x+y-3)
® (x+y-1(x+y+3) @ (x+y+1)(x+y+3)

® (x+y-Dx+y-2)



4.

(x+2)° - (2v-3)° & 2] ol

a+b+co gE o7 (B ae

@D -5 ® -1 3 -3



X(x4+1)(x+2)(x+3)+1 & A5E3] 5h=
Aol &7 2 A7

x(x+1)(x+2)(x+3)+1
=x(O)x (x+1)(@)+1

= (x> +3x)(®) +1

(@) = Azt st

A2 424 +1=(A+1)2=(®)?

® x+3 @ x+2

@ x2+3 B x24+3x+1

® x2+3x+2



x(x 4 2)(x +4)(x + 6) + 16

= x(®) x (x+2)(?) + 16

= (x2 4 6x)(®) + 16

(@) =A 25t

A2+ 8A+16=(A+4)* = (®)?

@ x+5 @ x+3

@ x2 1+ 6x ® x2+6x+1

® x*+4x+38



7. x2-49+14y-y? O] x O] AT 1A F A
), T Ja}a] o] g FohH?

@ 2(x-y) @ y+14

@ 2x-2y-7 ® x—-y+2
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8.

Stofet,

:I]_



@ 2(x+1) (x—%)
@ 2(x+1)(x—-1)



10.

8-Ta(a-2)+a*(a-2)>=(a+A)(a+B)(a+C)(a+D) 2L
S, A+B+ C+D E stofeh

Y
=¥



11. (2x-3y)(2x—3y-5) +6 = A5=lctH?

@ (2x-3y-2)(2x-3y+3) @ (2x+3y—-2)(2x+3y-3)
® (2x-3y+2)(2x-3y+3) @ (2x-3y+2)(2x—3y-3)

® (2x-3y-2)(2x-3y-3)






Adll 54 o085kl tha F 4 B- 104 9 b= 7-5HH?

A=18x25-18x23, B=212-2x21+1

@ 400 @ 360 3 200 @ 160 ® 40
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15. x+y=15x>2—-y?>+5x-5y=120 & o}, x —y & FF= F5l9]=}.
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16.

o] Zol7t 5em Q1 YoM HEAF2] dolE xem Ta 52 W,
O

15 x ofl Hieh Aoz yehfs?

@® 5rx? cm? @ nx(x+5)cm?

® nx(x+ 10) cm? @ 7x(2x+5)cm?
® nx(2x + 10) cm?



17.

(a_b+3)2_(a+b+3)2’%2l'%6]

o

A2

@ -4b(a-3) @ —da(b+3)

Q® -8b(a+3)
® -4b(a+ 3)

@ —4a(b-3)



18. o= & &4 &2 A2?

O xB3-x2+2x-2=(x-1)(x*+2)

@ xy-x-y+1=(x-1)(y-1)

® xy-2x+y-2=(x+1)(y-2)

@ x+1)-4(x+1)=(x+1)(x+2)(x-2)

® ab+1)-(b+1)=(1-a)(1+b)



19. a-b=V3+2LA W, a2 +b%-2ab—4a+ 4b+4 O] FL?

D 1 ® 2 3 3 @ 4 B 5



20.

th8 o)A gABEF 9 oFHGD 7} AA}
749 o, A4 HECG 2] HolS a, b
oW Aoz etd § QA5Eo)5HA (a -
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